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REASONING

Directions (1-3) :
lollowing information e

weight. P is |
lighter than Q.
but lighter tha
S. Ris not the
lightest person we
while the third h
logram. 4

1. Who among the |

»

How many persons &
er than R ?
(1) None 2)
(3) Two (4)
(5) More than three

. Which of the following m
represent the weight of @ 2.

W

(1) 62 kg 2)66kg
(3)60 kg (4) 58 kg

(5) 56 kg i ;
Directions (4-8) : Study the |

following information carefully an-
swer the given questions :

Twelve persons are sitting in
two parallel rows containing six
persons each, in such a way that
there is an equal distance between
adjacent persons. In row-1, A, B,
C, D, E and F are seated (but not
necessarily in the same order) and
all of them are facing south. In row=
2, P, Q. R S, T and V are seated
(but not necessarily in the same
order) and all of them are facing |
north. Therefore, in the given seat-
ing arrangement each person seat-
ed in a row faces another person of
the other row.

'! A Jm%ﬂ?&%%‘%ﬁ%@%ﬁt onObE?rre\é%Iéger(g-l%H r’gtudy the

person facing A sits second to

| the left of T. Two persons are sit-

ting between T and P. C and D are
immediate neighbours. C and D do
not sit at any of the extreme ends

| of the line. Only one person sits be-

tween B and C. The person facing
D is an immediate neighbour of Q.

| Vis not an immediale neighbour of

P. S does not face A.
4.Who amongst the following
sits seconds to the right of the
person who faces R ?
~mc (2)D
3B 4 E
{5) Cannot be determined
5. Which of the following state-
ments regarding B is true ?
1) B sits second to the left of C
~ 12) A sits to immediate left of B
{3) T faces B
:lﬂ D is an immediate neigh-
bour of B

The person who faces B is
immediate ncighbour

amongst the following

2)p

@WE

(5) Cannot be determined

7.Who amongst the [ollowing
sits exactly between T and R ?
mv 2Q
3)s @p
(5) Cannot be determined

8. Four of the following five are
alike in a certain way based on

the given seating arrangement
and thus form a group. Which
is the one that does not be-

long to the group ?
MmF @e
@T @c
(5)E

following information carefully and
answer the given questions :
In a certain code language :
“only in serial order” is writ-
ten as “ve pu na to”.
“order in the state” is written
as “li ve su pu”.
“the logical idea only” is writ-
ten as “su na ri jo".
“in idea or theory” is written
as “zt jo bk pu”.
9. Which of the following is the
code of ‘theory’ ?
(1) zt (2) bk
(3) jo (4) pu
(5) Either ‘zt’ or ‘bk’
10. The code ‘li ri to ve’ may rep-
resent
(1) serial order theory only
(2) only idea state order
(3) state logical serial order
(4) serial theory state the
(5) only the idea logical
11. Which of the following may
represent “logical idea is only
order” ?
(1) jo na ri ge ve
(2) ve na ri jo pu
(3) ri ve na zt bk
(4) bk to pu jo ve
(5) na ve su li pu
12. Which of the following is the '
code of “logical” ? i

(1) su (2) jo
(3) na (4)ri
(5) None of these
18. Which of the following 1s code
of “serfal” ? }
(Wpa (@0
Byve i J(flag i
(5) Cannot be determined



Directions (21-25) : In each
question below is given a statement
followed by two courses of action
numbered I and II. A course of ac-
tion is a practicable and feasible
step or administrative decision to
be taken for follow-up, improve-
ment, or further action in regard to
the problem, policy, etc. On the
basis of the information given in the
statement, you have to assume ev-
erything in the statement to be true,
and decide which of the suggested
courses of action logically follow (s)
for pursuing,.

Give answer (1) if only I fol-
lows.

Give answer (2) if only II fol-
lows.

Give answer (3) if either I or
11 follows.

Give answer (4) if neither 1
nor II follows.

Give answer (5) if both I and
11 follow.

14. Statement : The sales of ball-

point pens manufactured by

company Lixus have gone down
considerably ever since the

same company introduced a

gel-ink pen in the market.

Courses of action

1. Ball point pens should not
be manufactured by Lixus
any more.

II. Lixus should immediately
withdraw all gel-ink pens
from the market so as to
force people to buy ball-
point pens.

Statement : Nearly 26 per cent

of all engineering graduates

have been left unemployed
owing to severe recession
worldwide.

Courses of action

I. All the unemployed stu-
dents should be advised to
take up jobs in foreign
countries.

. The unemployed students
should be advised to take
up jobs only after the re-
cession is over.

15.

16. statBBSIRT AIBAN-SHHES
airline has been making huge
losses even as private airlin-
ers continue to prosper and
make substantial profit.
Courses of action
I. All the private airlines

should be banned from
their operation in the
country.

. The government airline
should be instructed to
increase passenger fare sig-
nificantly in order to in-
crease its profit.

Statement : Many private

schools have been violating

government directives and
have been charging more fees
than the specified limits.

Courses of action

I. The government should
identify such schools and
take stringent actions
against them.

. The government should not
limit school fees and keep
it flexible for the schools
to decide.

Statement : A large number

of patients admitted in a par-

ticular hospital have been di-

agnosed with a serious conta-

gious disease.

Courses of action

1. These patients should be
immediately evicted from
the hospital for fear of
spread of the discase.

. The hospital should make
appropriate quarantine ar-
rangements to control the
spread of disease.

Directions (19-20) : Study the
following information carefully to
answer the given questions :

‘P + Q' means 'P is the sister
of Q.

‘P @ Q' means ‘P is the wife of

17

18.

‘P 8 Q' means ‘P is the son of
Q.

‘P % @' means ‘P is the moth-
erof Q. )

U980 WA 16 i PeYdR6H Between
‘J and A’ in the expression
‘A@FSM%J+T" ?

(1) J is the mother-in-law of A
(2) A is the aunt of J

(3) J is the sister-in-law of A
(4) A is the husband of J

(5) None of these

What will come in the place ol
question-mark, if it is provid
ed that 'J is the daughter-in
law of T in the expression

20.

‘J%B 2 KST" ?

1@ (2) %
3)+ @s
(5) % or +

Directions (21-25) : In these
questions relationship between dif-
ferent elements is shown in the
statements. The statements are fol-
lowed by two conclusions.

Give answer (1) if only Con-
clusion I is true.
Give answer (2) if only Con-
clusion II is true.
Give answer (3) if either Con-
clusion I or I is true.
Give answer (4) il neither Con-
clusion I nor I is true.
Give answer (5) if both Con-
clusions I and II are true.
(21-22) :
Statements :
R>T<«M=Z;C>T>B

21. Conclusions 1. Z>C
H.B<2Z
22. Conclusions [. B<C
I. R>C

(23-24) :
Statements :
P2Q>T; Q<R T>A
23. Conclusions: I. A<Q

I, A<P
24. Conclusions: 1. T<P
. R>A
25. Statements : P>T=U<W:
Q2R2W
Conclusions 1, T=R

II. U<R



Directions (26-30) : In each
question below are two or th¥ee
statements followed by two conclu-
sions numbered I and II. You have
to take the two given statements to
be true even if they seem to be at
variance [rom commonly known
facts and then decide which of the
given conclusions logically follows
from the given statements disregard-
ing commonly known facts.
Give answer (1) if only con-
clusion I follows.
Give answer (2) if only con-
clusion II follows.
Give answer (3) if either con-
clusion I or conclusion II follows.
Give answer (4) if neither con-
clusion I nor conclusion II follows.
Give answer (5) if both con-
clusion I and conclusion II follow.
(26-27) :
Statements :
No cow is a bull.
All bulls are animals.
Some animals are mammals.
Conclusions :
1. Atleast some mammals are
animals.
11. Some mammals being bulls
is a possibility.
Conclusions :
I. At least some animals are
bulls.
1I. No animal is a cow.
Statements :
Some pencils are pens.
No pen is eraser.
All sharpencrs are erasers.
Conclusions :
1. No eraser is a pencil.
I. All pencils can never be
sharpeners.
(29-30) :
Statements :
Some stars are planets.
Some planets are moons.
No moon is a sun.
Conclusions :
1. No star is a sun.
II. All planets being suns is a
possibility.

26.

27.

28.

29.

30. Concitididash:at www.educ

I. All suns being stars is a
possibility.
1I. Some stars are planets.
Directions (31-35) : Study the
following information carefully to
answer the given questions :

Eight persons - A, B,C, D, E,
F. G and H - are sitting around a
circular table facing towards the
centre, but not necessarily in the
same order. All of them like differ-
ent colours viz. yellow, purple, or-
ange, black, white, green, red and
blue. B is sitting second to the left
of D. D likes blue colour. B does
not like yellow colour. D is the im-
mediate neighbour of that two per-
sons who like red and purple colours
respectively. Three persons sit be-
tween B and the person who likes
green colour. F and A are immedi-
ate neighbours. E does not like
black, yellow or purple colour. H is
an immediate neighbour of G. A is
immediate neighbour of both who
like red and black colours respec-
tively. E is sitting just opposite to
H who likes orange colour.
31. How many persons are seated
between H and D, if we go
clockwise from H to D ?

(1) Two (2) Two
(3) Four (4) One
(5) None

32. Which of the following pairs

of persons represents the im-

mediate neighbours of G ?

(1) H and the person who likes
black colour

(2) F and the person who likes
green colour

(3) Band H

(4) The person who likes or-
ange colour and C

(5) None of these

What is E's position with re-

spect to the person who likes

orange colour ?

(1) Third to the left

(2) Fifth to the left

(8) Fifth to the right

(4) Fourth to the right

(5) Second to the right

33.

gl i aRNER6R K 0V (Re per-
sons are made to sit in the al-
phabetical order in clockwise
direction, the positions of how
many persons (excluding A)
will remain unchanged ?

(1) None

(2) One

(3) Two

(4) Three

(5) More than three

‘Who amongst the following is
sitting exactly between the
person who likes red colour
and F ?

MG

(2 H

@) B

(4) D

(B) A

Directions (36-40) : Study the
following information carefully and
answer the questions given below :

35.

A word and number arrange-
ment machine when given an input
line of words and numbers rearrang-
es them followii'g a particular rule
in each step. The following is an il-
lustation of input and various steps
of rearrangement. (All the numbers
are two digit numbers).

: more presence required 12
42 70 for 63 37 good work
28

: for 70 more presence re-

quired 12 42 63 37 good

work 28

good 63 for 70 more pres-

ence required 12 42 37

work 28

more 42 good 63 for 70

presence required 12 37

work 28

presence 37 more 42 good

63 for 70 required 12 work

28

: required 28 presence 37
more 42 good 63 for 70 12
work

Step VI : work 12 required 28 pres-

ence 37 more 42 good 63

for 70

Input

Step 1

Step IT :

Step III :

Step IV :

Step V




And Step VI is the last step of
the rearrangement as the de-
sired arrangement is obtained.
As per rules followed in the
above steps, find out in each
of the questions the appropri-

ate step for the given input.

Inpur for the questions :
money 48 24 18 wanted for
investment 65 90 lock cred-
it 32

Which step number is the fol-

lowing output ?

lock 32 investment 48 for 65

credit 90 money 24 18 wanted

(1) Step I

(2) Step Il

(3) Step Iv

(4) Step vV

(5) There is no such step
Which word /number would be
fourth from the left in step IV ?
(1) for (2) 48

(3) 65 (4) 32

(5) credit

‘Which word /number would be

second to the right of the fifth
element from the left in step
ve?

(1) for

(2)65

(3)48

(4) investment

(5) 32

How many elements (words/
numbers) are there between
“for” and “18” in step III ?

(1) Four

(2) Three

(3) Six

(4) Seven

(5) Five

Which of the following repre-
sents the position of “credit”
in step V ?

(1) Third from the right
(2) Fifth from the left
(8) Stxth from ‘the left

'(4) Fourth from the right

(5) Sixth from the right

hosted atwaww educa
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Directions (41-50) : Read the
following interview and answer the
given questions based on. Some
words have been printed in bold to
help you locate them while answer-
ing some of the questions.

A pioneering new book, Gen-
der and Green Governance, ¢x-
plores a central question: If women
had adequate representation in for-
estry institutions, would it make a
difference to them, their communi-
ties, and forests as a national re-
source? Interview with the author.

Why has access to forests
been such a conflict-ridden is-
sue ?

This is not surprising. Forests
constitute not just community and
national wealth, but global wealth.
But for millions, forests are also
critical for livelihoods and their
daily lives.

Your first book, Cold Hearths
and Barren Slopes (1986), was
about forests. Is there an evolu-
tion of argument here ?

Yes indeed : In Cold Hearts
and Barren Slopes, I had argued that
social forestry, with its top-down
implementation and focus on com-
mercial species, was neither ‘social’
nor forestry’, and would protect nei-
ther forests nor village livelihoods.
The answer, I argued, lay in allow-
ing forests communities (o manage
local forests. Finally, in 1990, In-
dia launched the joint forest man-
agement programme and Nepal also
started community forestry. So I
decided to see for myself how com-
munity forestry was actually doing.

Between 1995 and 1999, I
travelled extensively across India
and Nepal and found paradox :
Forests were indeed becoming
greener but women's problem of
firewood shortages persisted and in
many cases had become more
acute. Also, despite their high
stakes in forests, women continued
to be largely excluded from forest
management. I coined the term

-seribe this. However, the current

“participatory exclusions” to v:le-J

tlgo%gl?ss Eers\éearﬁgg vg%gnng exclu-

sion. I ask : What if women were
present in forest governance ? What
difference would that make ?

But has this question not
been raised before ?

Economists researching envi-
ronmental collective action have
paid little attention to gender.
Scholars from other disciplines fo-
cussing on gender and governance
have been concerned mainly with
women's near absence from gover-
nance institutions. The presump-
tion is that once women are present
all good things will follow. But can
we assume this ? No. Rural wom-
en's relationship with forests is
complex.

On the one hand, their every-
day dependence on forests for fire-
wood, fodder, ete, creates a strong
stake in conservation. On the oth-
er, the same dependence can com-
pel them to extract heavily from for-
ests. As one landless woman told
me : ‘Of course, it hurts me to cut a
green branch but what do I do if
my children are hungry? Taking an
agnostic position, I decided to test
varied propositions, controlling for
other factors.

What did you find ?

First, women's greater presence
enhances their effective voice in de-
cision-making. And there is a criti-
cal mass effect : If forests manage-
ment groups have 25-33 per cent fe-
male members in their executive com-
mittees it significantly increases the
likelihood of women attending meet-
ings, speaking up and holding office.
However, the inclusion of landless
‘women makes a particular difference.
When present in sufficient numbers
they are more likely to attend meet-
ings and voice their concerns than
landed women. So what matters is
not just including more women, but
more poor women.

Second, and unexpectedly,
groups with more women typically
make stricter forest use rules. Why
is this the case ? Mainly because
they receive poorer forests from the
forest department. To regencrate
these they have to sacrifice their
. immediate needs. Women from




households with some land have

some fallback. But remarkably even

in groups with more landless wom-

en, although extraction is higher,

they still balance self-interest with

conservation goals, when placed in

decision-making positions.

Third, groups with more wom-

en outperform other groups in im-

proving forest conditions, despite

getting poorer forests. Involving

women substantially improves pro-

tection and conflict resolution,

helps the use of their knowledge of

local biodiversity, and raises chil-

dren’s awareness about conserva-

tion.

41. What was author's view on

‘Social Forestry Scheme’ ?

(1) A great success

(2) Beneficial for villagers

(3) Neither good nor bad

(4) Should have been imple-
mented as ‘top-down’

(5) None of these

Which of the following is one

of the reasons of fqrests being

a conflict-ridden idsue ?

(1) Some countrids*have larg-
er forest cover

(2) There is less awareness
about global warming

(3) High dependence of many
on forests

(4) Less representation of
women

(5) Less representation of local
women

The author is advocating in-

clusion of

(1) More landless women

(2) More landed women

(8) More women irrespective of
their financial status

(4) Local people

(5) Younger women in the age
group of 25-33 years

Which of the following best

describes “participatory exclu-

sion”, as used in the inter-

view ?

(1) Outside support

(2) Overdependence

(3) Benefitting without self iri-
terest

42.

@ ORI A W eshea
(5) None of these

45. In the second question, the

interviewer asked -'Is there an |

evolution of argument here ?'

Which of the following best

describes that ?

(1) From Barren to Greener
slopes

(2) From local groups to local
groups with more women

(8) A fine balance between con-
servation and commercial
forestry

(4) Top-down approach to
Community forestry

(5) Participatory exclusion to
Greener slopes

Why does author say, ‘Rural

women's relationship with for-

ests is complex’ ?

(1) Dependence forces them to
extract and also have con-
cern for conservation

(2) If they protect forests, their
livelihood is severely affect-
ed

(3) Poor women have been ex-
cluded from forest manage-
ment

(4) They cannot be asked to
restore forests which are
critical for them {

(5) Greener forests do not meet
the requirement of firewood

Landless women, when in de-

cision making role

(1) extract much more from
forest

(2) improve their own financial
status

(8) do not care for forest

(4) are able to meet conserva-
tion objectives as well as
their own interest

(5) fulfill their own interest at
the cost of conservation
goals

Directions (48-50) : Choose

the word/group of words which is

most nearly the same in meaning
to the word/group of words print-
ed in bold.

48. CONTROLLING

(1) holding in check
2) lnércaslng‘

47.

lOnOt{ﬁF %ggaggl@/forum

(4) passing

(5) ignoring

49. PARADOX
" (1) similarity

(2) position
(3) anomaly
(4) difference
(5) excuse
ACUTE
(1) accurate
(2) severe
(3) dull
(4) focused
(5) refined
Directions (51-55) : Read
each sentence to find out whether
there is any grammatical error or
idiomatic error in it. The error, if
any, will be in one part of the sen-
tence. The number of that part is
the answer. If there is no error, the
answer is (5). (Ignore errors of punc-
tuation, if any).

51. The dense fog on Friday morn-
ing (1)/ forced the Airport Au-
thority of India to divert (2)/
eight flights, includes two in-
ternational flights, (3)/ out of
the International Airport (4)/
No error (5).

The civic authorities had
scrapped the trade license (1)/
of a well known restaurant af-
ter investigation proved that

(2)/ it had chopped down a
full grown tree simple because
(3)/ the tree was blocking the
view of the restaurant. (4)/ No
error (5).

Investigating officers have
found (1)/ a lot of gaps be-
tween (2)/ the information
they gather on their own (3)/
and the version of events nar-
rated by the accused. (4)/ No
error (5).

. The death of the man has
brought (1)/ to the fore the
plight of thousands of mi-
grants (2)/ languishing behind
bars in India after (3)/ being
apprehended in'the border. (4)/
No error (5).: '

Only recently: (1) / did the man-
ager realized that the (2)/ in-

52.

B53.



formation provided to him (3)/

by his employees was [abricat-

ed. (4)/ No error (5).

Directions (56-60) : Each
question below has two blanks, each
blank indicating that something
has been omitted. Choose the set
of words for each blank which best
fits the meaning of the sentence as
a whole.

56. Much of the ____ that cricket
has is due to the fact it is a
—___'sport.

(1) allure, lucrative

(2) criticism, controversial

(3) attraction, unpopular

(4) flak, great

(5) comments, unusual

Since foggy weather _____vis-
ibility by several metres, the
railways has either partially
—__ or diverted some of the
trains.

(1) improves, started

(2) impatirs, called off

(8) hampers, withdrawn

(4) decrease, stopped

(5) reduces, cancelled

The once ___ district is grad-
ually being ____ of its green
cover.

(1) remote, eroded

(2) arid, replenished

(8) beautiful, devoid

(4) picturesque, depleted

(5) lush, rob

The pilot knew she would be
able to see the ____ lights of
the city from her cockpit win-
dow, but she would not see
the fireworks explode to wel-
come the new year as she
would have ___ to cruising
altitude.

(1) few, soared

(2) divine, escalate

(3) glistening, jumped

(4) shining, reached

(5) glittering, climbed

The New Year has in
good news for city hotels as
most properties are ___ for
the whole month.

(1) brought, deserted

(2) ushered, packed

57.
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(4) steered, renovating

(5) escorted, vacant

Directions (61-65) : Rear-
range the following seven sentenc-
es (A), (B), (C), (D)., (E), (F) and (G)
in the proper sequence to form a
meaningful paragraph; then answer
the questions given below them.

(A) But seriously, how much
would you pay to know
what thoughts are swim-
ming around in someone
else’s head ?
In most fictional movies
thus, the idea of reading
minds - of seeing the pri-
vate intentions of anoth-
er, and the possibility of
intervening in those plans
— has always been highly
attractive
Such fantastical questions
have long been the bread
and butter of fiction.
‘Today, more than four cen-
turies since the phrase, “A
penny for your thoughts ?”,
was first recorded, infla-
tionary accounting makes
that ancient penny worth
more than $40.
The going rate for a
“thought” - a probe into the
thinking of another - was
once quite a bargain,
And if you could really
know their truthfulness
how much more would you
pay?
Even with the sliding val-
ue of the dollar, this still
seems quite a bargain.
61. Which of the following should
be the SECOND sentence af-

(B)

(C

(D)

(E)

(F)

(G

ter rearrangement?
mF (2D
@®)c 4G
(5)A

62. Which of the following should
be the FOURTH sentence af-

ter rearrangement?
ma (2)B
B)G (4)D
B)YF v

[OBSLFRIRALE PR BB should

be the SIXTH sentence after

rearrangement?
(WE 2)G
@c (4)B
(5)A

Which of the following should
be the SEVENTH (Last) sen-
tence after rearrangement?

(1A (2)B
B)F 4)D
B E
65. Which of the following should

be the FIRST sentence after

rearrangement?
(1A (2)B
@Bc 4D
B E

Directions (66-75) : In the fol-
lowing passage, there are blanks,
each of which has been numbered.
These numbers are printed below the
passage and against each, five words
are suggested, one of which fits the
blanks appropriately. Find out the
appropriate word in each case.

With the U.S. military tied
down on two fronts and the rest of

the world growing (66) to American
power, the challenges for Rice are
as [67) as they have been for any
Secretary of Stale in the past three
decades. After six years of tussling
with others on Bush's national-se-
curity team, Rice has seen off her
rivals and (68) as the principal
spokesperson for Bush’s foreign
policy. Her reward has been to (69)
respons-ibility for selling a failed
policy in Iraq and framing a legacy
for Bush at a time when (70) in the
world are in the mood to help her.
“Bush is severely (71) and has very
little credibility or support at home
or abroad,” says Leslie Gelb, former
president of the Council on Foreign
Relations. “That is (72) true for his
Secretary of State. So they are ba-
sically flailing around.”

That's a grim assessment, since
the (73) to international order are
bigger today than at any other time
since the end of the cold war. The
most immediate source of (74) em-
anates from Iraq, where the coun-
try's civil war risks (78) a region-
wide cnrnflint




66.

67.

68.

69,

70.

71.

72.

73.

74.

75.

(2) subservient
(4) cordial

(1) resistant
(3) immune
(5) indifference
(1) obvious

(3) superfluous
(4) daunting

(2) trivial

(5) rewarding

(1) renamed  (2) emerged
(3) appointed (4) entrusted
(5) visited

(1) shirk (2) avoid

(8) transfer (4) visualize

(5) inherit

(1) people (2) few
(3) diplomats (4) autocrats
(5) most

(1) intensified

(2) master-minded
(3) weakened

(4) projected

(5) supported

(1) not (2) uniformly
(3) remotely  (4) partially
(5) also

(1) admirations

(2) threats

(3) pleasantries
(4) demands
(5) accolades

(1) instability

(2) fuel (3) energy
(4) peace (5) atrocity
(1) defusing

(2) demolishing

(3) terminating

(4) igniting

(5) extinguishing

Directions (76-80) : In cach

question below, a sentence is given
with a part of it printed in bold type.
That part may contain a grammat-
ical error. Each sentence is followed
by phrases (1), (2), (3) and (4). Find
out which phrase should replace the
phrase given in bold to correct the
error, if there is any, and to make
the sentence grammatically mean-
ingful and correct. If the sentence
is correct as it is and ‘No correction
is required.’ mark (5) as the answer.

76.

A nation that had been once
tried to kill him was the first
to embrace him.

(1) had once been trying to

77.

78.

79.

80.

2) asied alewww.educa

(3) once had been tried to

(4) had to once try and

(5) No correction required

Had he known more about the

policies of the company, he

might not have accepted the

offer.

(1) He had known more

(2) Did he know more

(3) Since not more was known

(4) If he would know more

(5) No correction required

His life is an example of how

the human will can flourish

even in harsh conditions.

(1) what the human will can

(2) how the human can and
will

(3) when the human will can

(4) where the human will can

(5) No correction required

The social worker passionalely

stroked the annoyed passenger

in order that be pacified.

(1) to pacify him

(2) that to pacify

(3) to be pacified for

(4) that to be pacified with

(5) No correction required

They were no longer able to pro-

vide the help their children

need.

(1) helped their children need

(2) help their children needed

(3) help that their children
need

(4) help that their children
would need

5) No correction required

QUANTITATIVE APTITUDE

81.

82.

83.

84.

86.

87.

In how many ways the letters
of the word SACRED can be
arranged so that vowels come
together ?

(1) 240 (2) 120

(3) 320 (4) 720

(5) None of these

How many natural numbers are
there lying between 134 and
467 which are divisible by 7 ?
(1) 46 (2) 47

(3) 49 (4) 51

(5) None of these

A sum of Rs. 3200 becomes Rs.
3456 in two years at a certain
ratc of simple interest. What
is the rate of interest per an-
num ?

(1) 5.5% (2) 6%

(3) 4% (4) 4.5%

(5) None of these

A discount of 15% is given on
the marked price of an article.
The shopkeeper charges sales
tax of 6% on the discounted
price. If the selling price be Rs.
1081.20, what is the marked
price of the article ?

(1) Rs. 1185.20

(2) Rs. 1250.20

(3) Rs. 302 (4) Rs. 1200

(5) None of these

Directions (85-89) : What will

come in place of the question mark
(?) in the following number series ?

85.

21:1056°2 15,75.31.5.78.75
(1) 10.5 (2)11.5
(3) 12.5 (4) 10.25

(5) None of these

6 19 58 ? 214 331
(1) 113 (2) 123
(8) 133 (4) 143

(5) None of these

? 16 28 58 114 204
(7 (2)9
(3) 14 (4)6
(5) 10



88. 13.7614.91 17.2120.66731.01

(1) 25.66 (2) 24.36
(3) 24.26 (4) 25.26
(5) 25.36

89.15 ? 24 33 97 122
(1)20 (2) 19
3) 17 (4) 18
(5) 16

90.A sum of Rs. 221 is divided
among X, Y and Z such that
X gets Rs. 52 more than Y, Y
gets Rs. 26 more than Z. The
ratio of the shares of X, Y and

Z respectively is :
1)9:5:3 (2)9:3:5
3)5:9:3 (410:6:5

(5) None of these
91. Aboat covers 20 km in 4 hours
along the current and 9 km in
3 hours against the current.
What is the speed of the cur-
rent ?
(1)2kmph  (2) 1 kmph
(3) 1.5 kmph (4) 1.75 kmph
(5) None of these
92. A sum of Rs. 2200 is invested
at two different rates of inter-
est. The difference between the
interests got after 4 years is Rs.
202.40. What is the difference
between the rates of interest ?
(1) 3.3% (2) 2.3%
(3) 3.5% (4) 2.5%
(5) None of these
Directions (93-97) : In the
following pie-chart. the percentage
of students studying in 6 different
schools has been shown. Study the
pie-chart carefully to answer the
questions.
Percentage of students study-
ing in 6 different schools A, B, C,
D,Eand F.
Total number of students = 75000
A
C

93. In whieh @eloal (RS 681 05t REGEIRERRAMIR i nber ;)f

students is the highest ?

(A (2B
@)c @F
(5)D

94. In which two other schools the
number of students is same as

that of studying in schools A

and C ?
()Aand B (2)D and E
(B)Eand F (4)D and F
(5) B and D

95. What is the average number of
students studying in schools B,
Dand E ?
(1) 11200 (2) 10600
(3) 10000 (4) 10500

(5) None of these

students studying in schools B
and E is

(1) 7258

(2)5:
3)3:
(4)6:
(5)7:6

By what percent the number
of students studying in school
D is less than that of studying
in school C ?

N W

97.

2 1
(1)165%  (2)33-%
3) 13%% 4) 26%%
(5) 30%

Directions (98-102 ) : In the following table the marks obtained by
6 students in 8 different subjects are given. Study the table carefully to
answer the questions. Maximum marks of each subject is 100.

Subjects/ | Sunil (Meeta | Farhan | Shweta | Davis Kirti“
W
English 45 42 53 81 57 70
Chemistry | 63 35 65 50 51 52
Hindi 78 46 56 82 42 55
Algebra 54 54 43 81 62 42
Physics 81 29 67 85 66 62
Geography | 82 59 45 36 41 38
Biology 63 48 69 88 53 76
History 72 58 73 72 49

98. What is the average of marks
obtained by all students in

Algebra ?

(1) 52 (2) 54
(3) 56 (4) 66
(5) 57

99. What is the difference be-
tween the total marks ob-
tained by Sunil and Shweta?

(1) 45 (2) 42
(3) 35 (4) 38
(5) 36

100. By what percent approxi-
mately are the total marks
obtained by Sunil more than
that of Meeta ?

(1) 43% (2) 45%
(3) 46% (4) 40%
(5) 42%

101. What is the percentage of
marks obtained by Farhan ?

(1) 52% (2) 57%
(3) 54% (4) 58%
(5) 60%
102. What is the average of marks
obtained by Davis ?
(1) 53.5 (2) 56.5
(3) 55.5 (4) 58
(5) 57

Directions (103-112 ) : What
approximate value will come in
place of the question mark (?) in the
following questions ? (You are not
required to find the exact value).
108. 2371 + 6 + (43 x 4.35) = ?

(1) 582 (2) 590
(3) 600 (4) 570
(5) 595



104.

108.

1086.

107.

108.

109,

110.

111,

112,

/3380 + 41300 =?

(1) 56 (2) 51

(3)53 (4) 54

(5) 55

(4.989)% +(21.012)° + 1090 =7
(1) 9219 (2) 9391

(3) 9319 (4) 9129

(5) None of these
13

7020 + 299 X == ?
gredsieT

(1) 1040 (2) 1100

(3) 1060 (4) 1050

(5) None of these

24.99% of 5001 - 65.01% of
2999 =7

(1) 840 (2) 500
(3) 700 (4) -500
(5)-700

1 2
(81)2 -(64)3 =2

3 1
M 1g @ 15

SR 1
©® 143 @3

(5) None of these

331.8 + 23.7 + (-21)? - 94
=(?)?

(1)15 (2) 16

(3)18 @19

(8)17

34% of 576 + 18% of 842 = ?%
of 400 + 83.4

(1)75 (2) 72
(3) 62 (4) 85
(5) 66
V29241 .2 _,
V361
(1) 47 (2) 49
(3)46 (4)45
(5)61
Bl 3
8 462 +7=13o2
2 4
(1) 3% 2 37
3 5
@ 8% (432
6
B 37

118, The FHETANNN - SUG3

114.

115.

circular playground is 308
metre. There is 7 metre wide
path around the ground. The
area of the path is

(1) 2130 sq. metre

(2) 2410 sq. metre

(8) 2510 sq. metre

(4) 2310 sq. metre

(5) None of these

The average of the 9
consecutive positive integers
is 63. The product of the
largest and smallest integers
is

(1) 3935
(3) 3853
(5) 3635
In two vessels A and B, there
is mixture of milk and water.
The ratio of milk and water in
these vesselsis 5:2and 8: 5
respectively. In what ratio
these mixtures be mixed
together so that the ratio of
milk and water in the new
mixture becomes 9 : 4 ?

(2) 3953
(4) 3835

(1)7:2 (2)2:7
(3)3:5 4)5:83
(5)7:9

Directions (116~120): In the

following bar diagram, the number

of

mobile phones and laptops (in

thousands) sold by 6 different
companies in a certain month has
been given. Study the bar diagram
carefully to answer the questions.

Number of mobile phones and

laptops (in thousands) sold by 6
different companies in a month.

Number of mobile phones and lapops

M Mobile phones
[] Laptops

20

=)

Company —+

117.

118,

119.

120.

LR RERIY RO VR Humber

of mobile phones sold by all
companies taken together in
a month ?

(1) 18 thousands

(2) 20 thousands

(8) 17 thousands

(4) 19 thousands

(5) None of these

By what percent the number
of mobile phones sold by
company U is more than that
of company T ?

1
1) 335%

(2) 22%
(3) 20%

2
=)
e

(5) None of these

What is the average of the
number of laptops sold by
companies P, Rand T ?

(1) 17 thousands

(2) 17.3 thousands

(3) 18 thousands

(4) 16 thousands

(5)None of these

What is the respective ratio
between the number of mobile
phones sold by company T and
that of laptops sold by
company Q ?

(1)3:5

(2)6:5

(8)5:3

(4)5:6

(5) None of these

What is the respective ratio of
the numbers of laptops sold
by company @ and company
R?

(1)2:5
(2)4:3
3)3:4
4)3:2

5)2:3



GENERAL AWARENESS

(with special reference to
Banking Industry)

121.Savings Bank interest is cal-
culated on the basis of
(1) Minimum available bal-
ance
(2) Bank's liquidity
(3) Profitability preferences of
abank

(4) Daily balance method
(5) None of these
122. A customer deposits a sealed
box in a bank in Safe Custo-
dy. What will be the relation
between the customer and the
bank in this case?
(1) Creditor-Debtor
(2) Bailor-Bailee
(3) Trustee-Beneficiary
(4) Principal-Agent
(5) Licensor-Licensee
123. Which term is used for an ac-
count which has been inoper-
ative since 2 years due to
change of residence of the cus-
tomer?
(1) Dormant account
(2) Inactive account
(3) Static account
(4) Unclaimed account
(5) Anonymous account
124.Which policy of the Reserve
Bank of India does not deal in
fixing interest rates?
(1) Monetary Policy
(2) Expansionary policy
(3) Contractionary policy
(4) Fiscal Policy
(5) Credit Policy
125. Which of the following bodies /
organizations is responsible for
the inspection, supervision
and surveillance of Regional
Rural Banks (RRBs)?
(1) NABARD  (2) SEBI
(8) RBI (4) IRDA
(5) Union Ministry of Rural
Development
126. The “Three Pillar Approach” of
Risk Management does not
include

N0 c
(1) Minimum capital require-
ments

(2) Supervisory review
(3) Market discipline
(4) Thrift
(5) All of the above

127. According to the Micro, Small
and Medium Enterprises De-
velopment (MSMED) Act,
2006 micro enterprise is an
enterprise where investment in
plant and machinery does not
exceed
(1) Rs. 5 lakh
(2) Rs. 10 lakh
(3) Rs. 25 lakh
(4) Rs. 50 lakh
(5) Rs. 1 crore

128. Public Provident Fund in In-
dia is open for a period of

(1) 1 year (2) 5 years
(3) 10years (4) 15 years
(5) 20 years

129.Which of the following bank-
customer relationship does not
come under the Code of Fair
Banking Practice?
(1) To describe standards of
good practice and service
(2) To force the customers
comply with the Know Your
Customer (KYC) norms
(8) To promote disclosure of
information relevant and
useful to Customers
(4) To promote informed and
effective relationships be-
tween Banks and Custom-
ers
(5) To require Banks to have
procedures for resolution of
disputes between Banks
and Customers.
130.Which among the following
constitutes the largest per-
centage of retail loans in In-
dia?
(1) Personal Loans
(2) Auto Loans
(3) Home Loans
(4) Consumer Loans
(5) Education Loans
131.The head of Hindu Undivided
Family is called

(I) Karta’ (2) Dharta
(3) Co-parcener(4) Mukhya
(5) Grihastha

132.What is the Reverse Repo Rate
al present?
(1) 7.50 per cent
(2) 7 per cent
(3) 6.5 per cent
(4) 6.25 per cent
(5) 6 per cent
133. Which, among the following,
is not one of the main purpos-
es behind the start of Basic
Saving Account by banks in
India?
(1) To provide normal banking
service available to all
(2) To provide saving account
facility without require-
ment of any minimum bal-
ance
(8) To promote ‘no-frills’ ac-
count
(4) To provide facility of ATM
card or ATM-cum-Debit
Card
(5) None of these
134. Under the Prevention of Mon-
ey laundering Act, every bank-
ing company is needed to fur-
nish details of cash transac-
tions of the value of more than
__or its equivalent in foreign
currency.
(1) Rs. 1 lakh (2) Rs. 5 lakh
(8) Rs. 10 lakh (4) Rs. 25 lakh
(5) Rs. 50 lakh
135. At present, Demand Drafts in
India are valid for a period of
(1) 1 month
(2) 2 months
(3) 3 months
(4) 6 months
(5) 1 year
136. As per the guidelines issued by
the Reserve Bank of India in
May 2013, debt service cover-
age ratio should be greater
than ___ within the 5 years
period.
(1) O per cent
(2) 0.50 per cent
(3) 1 per cent
(4) 1.25 per cent
(5) 1.50 per cent



137.Which of the following is not

correct regarding the Cheque

Truncation System (CTS) in

India?

(1) It speeds up the process of
collection of cheques

(2) It reduces thic scope for
cheque clearing-related
frauds

(3) Truncation of cheques is yet
to be legalized

(4) It lowers the cost of collec-
tion of cheques

(5) It removes reconciliation-
related and logistics-relat-
ed problems

138.What is the liability of the

Banker in.Case of Wrongful

Dishonor of Cheques?

(1) He is liable to compensate
the customer for the loss
suffered by him

(2) He is not liable to compen-
sate the customer for the
loss

(3) He can transfer the matter
to the Customer Grievance
Redressal Department

(4) Both the customer and the
banker have to split the
compensation in the ratio
of 50:50

(5) None of these

139.In the context of financial in-
clusion, what does USB refer
to?

(1) Ultra Small Banking

(2) Unified Services Branch

(8) Ultra Simplified Banking

(4) Union Saving Banking

(5) Ultra Small Branch

140.In the field of banking sector,
what is the full form of ECS?

(1) E-Commerce Service

(2) Entity component system

(3) Embodied cognitive science

(4) Electronic Clearing Service

(5) Extended Core Storage

141.If a person had income from
salary, pension and interest
income, then which Income

Tax Form will be filled by him?
(1) ITR-1 (2) ITR-2
(3) ITR-4 (4) ITR-8

(5) ITR-12

142, Whith S Pthe ofl oW e |
correct regarding Financial
Inclusion?

(1) It is the delivery of finan-
cial services at affordable
costs

(2) It is targeted at sections of
disadvantaged and low-in-
come segments of society

(3) It promotes financial and
institutional sustainabili-

ty
(4) The Reserve Bank of India
(RBI) set up the Jalan
Commission in 2004 to look
into financial inclusion
(5) Opening of no-frills ac-
counts is a step towards fi-
+ nancial inclusion
143.Which of the following is a
fully-owned subsidiary of the
Reserve Bank of India?
(1) Reserve Bank of India Staff
College
(2) Institute for Development
and Research in Banking
Technology
(3) Indira Gandhi Institute for
Development Research
(4) Deposit Insurance and
Credit Guarantee Corpora-
tion of India
(5) National Institute for Bank
Management
144.Which of the following is the
currency of the European
Union?
(1) Pound Sterling -
(2) Euro
(3) Franc
(4) Krona
(5) Forint
1458. Under which Act can criminal
prosecution of the defaulter be
initiated for dishonoring of an
electronic fund transfer in-
struction due to insufficiency
of funds in the account?
(1) Negotiable Instruments
Act, 1881
(2) Indian Penal Code, 1860
(8) Payment and Settlement
Systems Act, 2007
(4) Both 1 and 2
(5) Both 2 and 3

'W[&?Wf&ﬂ&%ﬂg state-
ments correctly describe
Brown Label ATMs in India?
(1) They are those ATMs where
hardware and the lease of
the ATM machine is owned
by a service provider

(2) They are those ATMs wiiere
cash management and .on-
nectivity to banking net
works is provided by a
sponsor bank

(3) They are alternative be-
lween bank-owned ATMs
and ‘white label' ATMs

(4) These ATMs are marked by
an incentive to ensure effi-
ciency in terms of usage

(5) All of the above

147.A bank customer (a company)
has a cash credit limit of Rs.
1, 00,000. After making a pay-
ment on a scheduled date, its
credit balance gets reduced to
Rs. 80, 205. In this context,
under which facility can one
entity / company make pay-
ments [rom its bank account
to a number of recipients by
diréct credit to their bank ac-
count?

(1) NEFT

(2) RTGS

(3) ECS

(4) Standing Instructions Pay-
ment

(5) Only 1 and 2

148. A letter of credit where in the
credit available to the custom-
er gets reinstated after the bill
is paid is known as
(1) Back to back LC
(2) Red clause LC
(8) Back to front LC
(4) Revolving LC
(5) Recourse LC

149, Banks are required to main-
tain secrecy and confidential-
ity of customers' accounts
under
(1) Indian Contract Act 1872
(2) Banker's Book Evidence

1891
(8) Consumer Protection Act,
1986




(4) Banking Regulation Act
1949

(5) Income Tax Act 1961
150. Which of the following au-

thorities instructs a bank that

funds held on behalf of a debt-

or should not be released un-

til directed by it?

(1) Reserve Bank of India

(2) Banking Ombudsman

(3) Court

(4) Union Ministry of Finance

(5) Cabinet Committee on
Economic Affairs

151. Which Act has empowered the

Reserve Bank of India to con-

duct the inspection of banks

and regulate them in the in-

terest of banking system?

(1) Reserve Bank of India Act,
1934

(2) Banking Regulation Act,
1949

(8) Negotiable Instruments
Act, 1881

(4) Banking Supervision Act,
1956

(5) Payment and Settlement
Systems Act, 2007
152. Major portion of share capital
in the case of Regional Rural
Banks in India is held by
(1) Indian Banking Associa-
tion
(2) Central Government
(8) Reserve Bank of India
(4) State government
(5) Sponsor Bank
153. Which of the following state-
ments sum up the features of
a Debit Card?
(1) It is a plastic payment card
(2) Payments using a debit
card are immediately trans-
ferred from the cardholder’s
designated bank account
(3) It is known as a bank card
or check card
(4) The debit card transactions
are routed through the Visa
or MasterCard networks
(5) All of the above
154. What does the letter 'S’ stands
for in BRICS?
(1) Sustainable

o) ngﬂSgE\ed at www.educyg

(3) Service
(4) South Alfrica
(5) Sales
155. Which of the following bodies
is responsible for maintaining
the Cash Reserve Ratio?
(1) All scheduled commercial
banks
(2) All Private Banks
(3) Regional Rural Banks
(4) Non Banking Financial
Companies
(5) All of the above
156. Forcign Exchange Reserves in
India are maintained and man-
aged by
(1) SEBI
(3) IRDA
(4) Planning Commission
(5) Union Ministry of Com-
merce
157.Which of the following is not
a Credit rating agency of In-

(2)RBI *

dia?

(1) CIBIL

(2) ICRA Limited

(3) Fitch (4) Onicra
(5) Experian

158. With which institution is the
TransUnion Score associated?
(1) Educational institutions
(2) Credit Institutions
(3) Legal Institutions
(4) Forex Institutions
(5) None of these

159. A cheque which bears the word
“Not Negotiable” between the
two parallel lines is considered
as a ¥
(1) Uncrossed cheque
(2) Truncated cheque
(3) Valid cheque
(4) Crossed cheque
(5) Post-dated cheque

160.To which of the following cli-
ents of the Reserve Bank of
India does its rates (Bank Rate
and Repo Rate) apply?
(1) Union Government
(2) State Government
(3) NABARD
(4) NBFCs
(5) All of the above

I
l COMPUTER KNOWLEDGE

161.Full form of FTP is
(1) File Transfer Protocol
(2) File Transit Protocol
(3) Folder Transfer Protocol
(4) File Transfer Procedure
(5) None of these
162. Which area of microprocessor
is used to temporarily store in-
structions and data ?
(1) Register
(2) ALU
(8) Accumulator
(4) Cache memory
(5) Interrupt control
163.____ are usually real technol-
ogy buffs which modify com-
puter hardware or software in
a way that alters the creator's
original content.
(1) Crackers
(2) Hackers
(3) Virus
(4) Software engineer
(5) None of these
164.In computing _____is a term
that means replacing of hard-
ware, software or firmware
with a new or better version,
in order to bring the system up
to date or to improve its char-
acteristics.
(1) Upgrading
(2) Installing
(3) New version
(4) Replacement
(5) None of these
165.What is the blinking symbol
on computer screen ?
(1) Mouse
(2) Cursor
(3) Cathode Ray tube
(4) Logo
(5) Palm cursor
166. Which hardware device en-
ables a computer to send and
receive information over tele-
phone lines by converting the
digital data used by computer
into analog signal used on
phone lines and then convert-
ing it back once received on the

other end.



(1) Demodulator
(2) Modulator
(3) Modem
(4) Ethernet
(5) All of the above
167.____ are descended [rom early
text fomatting tools, it is th=
earliest applications for the
personal computer in office
productivity.
(1) Word processor
(2) Diskettes
(3) Printer
(4) Plotter
(5) None of these
168.____is a concepl to abstractly
represent all instances of a
group of similar things.
(1) Revoke
(2) Data Manipulation lan-
guage
(3) Data Definition language *
(4) Data Control language
(5) Entity
169. How many Gigabytes is equal
to 1 petabyte?
(1) 104857
(2) 1048576
3)1
(4) 10485
(5) None of these
170. xls, .doc, .ppt are extensions
of ____ respectively.
(1) Word document, Presenta-
tion, Excel
(2) Presentation, Excel, Word
document
(3) Excel, Word document, Pre-
sentation
(4) Excel, Presentation, Word
document
(5) None of these
171.PIN stands for ___
(1) Password Indentification
Number
(2) Public
Number
(3) Private
Number
(4) Public
Number
(5) None of the above

Indentification

Indentification

Indentification

172, NRaQdah N Gaea

archiving of computer data,
where primary purpose is to
recover data after its loss (due
to Heletion or corruption).
(1) Reverse data
(2) Extraction of data
(3) Back up of data
(4) Version change
(5) All of the above
178. An email attachment is a com-
puter file, documents and im-
ages sent along with an
(1) email message
(2) email extension
(3) Inbox
(4) Insert file
(5) All of the above
174.TSO stands for
(1) Time sharing operation
(2) Time sharing option
(3) Time support option
(4) Time synchronous option
(5) None of these.
175.Which of the following is
known as Network of Net-

works?
(1) LAN (2) WAN
(3) MAN (4) Internet

(5) None of these
176. What refers to how system can

quickly transform to support

environmental changes?

(1) Reliability

(2) Scalability

(3) Availability

(4) Maintainability

(5) None of these
177.Booting up of PC depends on

factors like so that files

function without erros.

(1) the hardware

(2) BIOS

{3) Opertaing system

(4) All of the above

(5) None of these
178.Which amongst the following

is/are pointing devices?

(1) Mouse

(2) Trackball

(3) Joystick

(4) Stylus

(5) All of the above

{970 BRI RECAEYURIUS he top
and bottom margins so that
the text is centred vertically on
the printed page?

(1) Vertical justifying

(2) Vertical adjusting

(3) Dual centring

(4) Horizontal centring

(8) Vertical centring
180.What is the overall term for

creating, editing, formatting,

storing, retrieving, and print-

ing a text document ?

(1) Word processing

(2) Spreadshect design

(3) Web design

(4) Database management

(5) Presentation generation

181.A(n) ___ a]lovys you to access
your e-mail from any where
(1) Forum
(2) Webmail interface
(3) Message Board
(4) Weblog
(5) None of these

182. When you enter text in a cell
in Excel, it also appears in the
(1) status bar
(2) formula bar
(3) row heading
(4) name box
(5) None of these

183. Where is ncwly received email
stored ?

(1) Your website

(2) Address-box

(3) Inbox

(4) Your personal laptop
(5) None of these

184. When the mouse is moved, it
causes a picture (o move on
the screen which is referred to

asa
(1) menu (2) icon
(3) pointer (4) tab

(5) None of these
185.To save a document for the
first time, option is used
(1) Save as
(2) Save first
(3) Save on
(4) Copy
(5) Paste




186.Two basic types of graphics
used in Word 2000 are 1

(1) Autoshapes and ClipArt
(2) Header and Footer
_(8) Drawing Objects and Pic-
tures
(4) Spelling and Grammar
(5) Word Count
187.Which of the following terms
is not related to Internet ?
(1) Link
(2) Function key
(3) Browser
(4) Search Engine
(5) Hyperlink
188. To move the text form its orig-
inal position to another posi-
tion without deleting it is

called —

(1) Scrolling  (2) Searching
(3) Moving (4) Copying
(5) Halting )

189. Which of the following is an
active cell in Excell ?
(1) Recycle Bin (2) Task Bar
(8) Tool Bar
(4) My Computer
(5) None of these

190. All the deleted files go to .....
(1) Recycle Bin (2) Task Bar
(8) Tool Bar
(4) My Computer
(5) None of these

191.You organize files by storing

them in .....
(1) archives (2) folders
(8) indexes (4) lists

(5) None of these

192, Letters, numbers, and symbols
found on a keyboard are ~
(1) Icon (2) Screen
(3) Keys (4) Menu
(5) None of these

198.____ is the process of carrying
out commands.

(1) Felching  (2) Storing
(3) Decoding  (4) Executing
(5) None of these.

184, The microprocessor contains a
special purpose storage areas
called
(1) Cache
(3) ROM

(2) RAM

(4) Internal memory
(5) Registers
195. Six aspects of e-mail system

in the right order are

(1) Composition, trarisfer, con-
version, reporting, format-
ting, disposition

(2) Composition, conversion,
reporting, transfer, format-
ting, disposition

(3) Composition, transfer, re-
porting, conversion, for-
matting, disposition

(4) Composition, formatting,
transfer, conversion, re-
porting, disposition

(5) Composition, transfer, con-
version, reporting, disposi- |
tion, formatting

196. COMMIT, ROLLBACK state-
ments are parts of

(1) TCL (2) DCL
(3) DDL (4) DML
(5) DQL

197. State what is true about XML :
(1) XML is a markup language
very different from HTML
(2) XML is not a W3C Recom-
mendation
(8) XML does not do anything
(4) XML stands for Extra
Markup Language
(5) XML tags are predefined
be used to insert a page
break in word at the current
position
(1) Enter
(2) Shift+Enter
(3) CTRL+Break
(4) CTRL+Enter
(5) CTRL+B
199, System proposal is prepared in
___phase of SDLC
(1) Conception
(2) Initiation
(3) Analysis
(4) Design
(5) Construction
200.__menu provides an option
to check spellings
(1) View (2) Edit
(3) Format (4) Tools
(5) Review

198.
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